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1.

What is Big Data?
A. It describes the oversized packets produced by intermediary devices in the IoT.

B. It describes the increased number of end devices, servers, and routers required to accommodate the
data.

C. It describes the data that only comes from Cloud computing applications.
D. It describes the collection and analysis of vast stores of data for insights that can help empower

decision makers.

What is meant by the term “Fog computing”™?
A. It is a type of computing where services are hosted where they are used, such as at the network edge
or with end devices.

B. It is a type of computing that sends controller data to aisensor.

C. It is a type of computing that disperses servers and services globally in distributed data centers.

D. It is a type of computing that enhances P2P applications.

Which characteristie deseribe Ethernet technology?

A. It is supported by IEEE 802.5,standards.

B. It typically uses an average of.]1 6{Mb/s for data transfer rates.
C. It uses the CSMA/CD access control method.

D. It uses a ring topology.

A user can access to a file serVemthat.s=on the same.network, but the traffic of the user cannot reach the
Internet. What is a possible cause of the problem?

A. The PC default gateway address is missing or incorrect.
B. The PC has an incorrect IP address.

C. The network cable connected to the user PC is faulty.
D. The NIC on the PC is faulty.

What is a definition for CPU throttling?

A. the ability to modify CPU clock speed as needed

B. overclocking

C. the sharing of processing between two or more cores
D. upgrading the CPU without changing the motherboard
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10.

A constructor cannot .

A. be overloaded.

B. specify return types or return values.
C. initialize variables to their defaults.
D. have the same name as the class.

A user receives a phone call from a person who claims to represent IT services and then asks that user

for confirmation of username and password for auditing purposes. Which security threat does this phone|

call represent?

A. DDoS

B. spam

C. social engineering

D. anonymous keylogging

Which protocol operates at the application layer of the TCP/IP model?

A. PPP
B. UDP
C.FTP .
D. ICMP

A student is helping a friend with-a home.computer that can no longer access the Internet. Upon
investigation, the student discovers that the computer has been assigned the IP address 169.254.100.88.
What could cause a computer to get such an IP address?

A. static IP addressing with incempleteinformation

B. unreachable DHCP server

C. reduced computer power supply output
D. interference from surrounding devices

In Java, pass-by-value is used with:
A. objects

B. primitive types

C. arrays

D. all of the above
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#include <s
void main{)
{
char *name, #*command;
name = (char*) malloc (10);
command = (char *} malloc (128 )s
strncpy (command, "id A
printf ("Enter\your name et
gets (name
printf ("H $s \n'", Wname)
system(cor o) B
}
g~ [# 20%]: RAE RMEEHT T

23 1:17,22,29,35,41,52,63
$#:%)2:17,29,35,22,63,52,41
$71AX A THAELZ Y F(inorder) S84 2 $5) #8532 A FE)— =i T 2% A (postorder)
373

(1) 34 B3 =BT &4 3 % & 85 25 b 3 99 7 #7 B F(Balance Factor, BF)Z {4 ° [7%]

(2) ZAoN—$ 32 ML T ZHEFETH T T2 PRNATHAIKT  HeE =8
T3t % & 85 25 b 3£ 80 BF {4 - [5%]

(3) HMA TREFAAETHHHAVL Tree) T R ? o T F E AL A ISEFH - AMENEH R
3£ 98 BF {4 ° [8%]
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F@sh | mAHE | Fanan | FHan FEBEE HRME S
subnet | No. of Hosts | Network Addr. | Broadcast Addr. Subnet Mask Default Gateway

A la  1192.168.120.0 | (22) 255.255.255.248 | (a4)

B 16 I w3 (ba)

c 0 ) (c2) @) 192.168.120.102
e o A e
E 5 "(en) 192.168.120.127 | (3) (e4)

F 100 / /i) i) (f3) (f4)

1y = & 'T/F%:ﬁ'.‘gi‘%_}'_% s 7’:%?}"7]\ .
Tl A




Bads k2 1050 2EEmEiiias FRX8

|

£ ¥ # a%zz%?%ﬂ%zfu%w; iﬁff FEREEEL/EE@

e

.
P
5
=

2 A 21 8(0x) & = &

— ~ (25%) FEIE TYIEE - WE s AR -

(1) EHE ALK EIEIE Lt 24758 774 (System Development Method)B] & FEH 7
BRET AP ERERIE B ? SEANEEYN—EHREIN A 7

(2) BEZAFE(Project Management) B &4 A TEE EThAE - HAB R ? BEEHEL K
L (ERSES 2 MR EEREEEE FENEMAFIES > MIEARARE AR 7

() BREEHZS BHENAY AR TELAR 8255 GRS EERAR ?
ELRGHRETERFELENEREEEZR?

(4) EIEEEERI(Big Data) ? B BT ? BEL A MEBERERONINER L& R4
WA ER N AR Y

= - Q5%) SEEVE TR ik AR

(1) FIEBITEREE(Mobilé Comifierce) ~ ikt 75(Clond Commerce)se & 575 (Social
Commerce) ? E @ FLHFHE ~ SHPERTS K A FE 2 50R( T2

(2) FETEEBTHUBUR(Qpen Governmen ) 277885 7 (Smart City) R g8 (Internet of Things) ? H A&
ZHEE Rfal 7 & (ISR ER 7

) {A188 020 1784 RTS8 B 1F 1 1A 2 400 28t T 15 AT B | AR RS R 7

(@) (TR EYEE 2% RAREE R % 4i(ContextawaresSyster) 1 LIMEIER | il & FHEIB R 77758
WEEE - DR {E A CHERS 4 = B A 1y 2 Bl s

=~ (25%) FEEE T YR ME B EEEE (157

(1) $farERit R 72 B AR AR ki = s BlI(ERP) Je B 72 5 HE(SCM) 28t 7

Q) MAFHEREBN BRI AR =GR ATEaE - & SR E Y

(3) UNEIEHERTERAEUL - GErTiR S AR R Appstl) 0 (I PCHome ~ £ IL4FTE 7

4 FEEEIRAEEAE ? AR Y e E L BRI D EEHAR K%
FEIEIBTHIAE 7

g~ (25%) HEIZE THIHERE - R REZEEIRRA

(1) 2OfelEEFE ~ |MARTER IR BRI TTA - DI IR A UIREREIS B N EEE
3?7

(2) AfEEE ~ HA R FERSIEMERITE T L - DA A BREARRImE RS BRI 7

(3) AOfeIEEE - M A K FEFH R IERT BT A 750k - DIRA IR E E HEBUFHI R E R EEER 7

(4) AOfETEEEEE - A KBRS TERTERINE A - DU R AR AR E R B EE 7

— EEMRILEE AT -

i o9 5
L o AR AR -




B is K2 105 BRI A E KA
# 1A #17

£ % # aw*ﬁ%ﬁm g BEMEESA/fHEE A REM 2 A27A(R) F ) #
> |

| SRR S8R (15%)
class Test {
public static void main(String[] args) {
A a = new A(50);

a.print();

}
class A {
String s;
A(String s} {
this.s = s;
}
public void print() {
System.out.print(s);

!
%ﬁji}ﬁ%’ Java BJ447% inheritance L/JJ: override Y] < (10% )
*2HH class variable, instance variable, local variable 55 — 558 - H/E il lifetime SRl AfEr? (15%)
aﬂﬂﬂ Singleton pattern &y 5gs » &l ¢ WIRFEFER - (20%)
TERAEORIEE T > {5738 ageregate function? S 71 {28 aggregate function > W5 RIEREAHIIAE
(20%)
6. zRBA VPN (virtual private network) HY&5ts 2 ThAE < ¢20%)
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Glb2s
1. Find the longest common subsequence of two strings X[0..m-1] and Y[0..n-1], where X and Y are two
strings with length m and n, respectively. Let L[1,j] be the longest common subsequence of X[0..i] and

Y[0.4].
(10%) Specify the recurrence relation of L[i,j] for dynamic programming

(20%) Consider X = AABBSCHAAA, Y = BABCSCA. Show the values of L[i,j] in a two dimension

array
2. Build an AVL binary search tree by insertingithesfollowing keys.
15, 3,12, 7, 35, 28, 16, 13, 29, 20,2 138, 18, 22, 36

(20%) Show the construction step by step.Hint: rebalance tri-nodes when the difference of heights of

sub trees is larger than 1)
3. Consider a hash table storing the following keys:
105, 9, 25, 54, 42, 26,8336, 29, 41, 22, 12,8, 53.

(20%) Let N=23. h(k) = k mod 23\and d(k) = 11- kimod 11/Show the hash table that handles collision|
with double hashing.

4. Below is the cost between two places (undirected).

Taidong, Kaoshiung, 450; TaidofigrGréenlsland, 800;Ka0shiung, Kenting, 400; Taipei,
Kaoshiung, 650; Taipei, Taidong, 750; Taipei, Haulian, SOO; Hualian, Taidong, 350; Hualian,
Greenlsland, 850; Taidong, Kenting, 300; Taipei, Taichung, 400; Taichung, Nanto, 300; Nanto,
Hualian, 400

(10%) Draw an undirected graph that includes all the above information with vertices (labeled with the

place name) and edges (labeled with the cost)

(20%) Represent the graph using the structure of adjacency matrices
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